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THE OPEN UNIVERSITY OF SRI LANKA
CERTIFICATE IN ENTREPRENEURSHIP AND SMALL BUSINESS MANAGEMENT
PROGRAMME

LEVEL 02 - FINAL EXAMINATION- 2012

BASIC STATISTICS & ECONOMICS - MCC 1103

DURATION - TWO (02) HOURS

Date : 13.01.2013 Time : 10.00 a.m. to 12.00 noon

General Instructions

1. Answer Two (2) questions from PART "A’ and TWO (2) questions from PART "B’.

2. It is advisable to spend one hour for each part.

3. Provide answers for each part separately in separate answer books and hand over
them separately.

4. Graph papers will be provide.

5. Non programmable calculators are allowed.
6. All questions carry equal marks.
Part A
1. (2) What are the major assumptions in Production Possibility Curve analysis ?
(04 marks)
(b)  Using production possibility curve analysis explain the following.
(1) Choice.
(i1) Increasing Opportunity Cost.
(ui1))  Economic Growth.
(iv)  Inefficient level of production. (10 marks)
© “In answering fundamental economic questions of a country, every county does

not rely on the same economic system”. Do you agree ? Explain using examples.
(11 marks)



(a)

(b)

(a)

(b)

(c)
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(1) Derive the demand curve using following information
Py 1 2 3 4 5 6 7 8
Qx 70 65 60 55 50 45 40 35

Py - Price of good x
Qx - Quantity demanded of good x

(ii))  Does the above confirm the Law of Demand? Explain.

(iii)  Find the slope of the demand curve ?

(iv)  Using illustrations explain how the demand/quantity demanded of good x
changes under following conditions.

e Price of a substitute good of good x increases.

e Price of a complementary good of good x increases.

e Price of good x decreases.

¢ Income of the people increases (consider good x as a normal good).
(15 marks)

Using illustrations, explain how the supply/quantity supplied of a good changes
under following given conditions.

(1) Price of the inputs needed to produce the given good increases.

(ii) More and more people start producing the good.

(iii)  The government imposes a tax on the supply of the good.

(iv)  The price of the given good declines. (10 marks)

Explain the nature of the market in which a producer of ,
(1) Paddy.
(i1) Soft drinks, has to operate. (06 marks)

Can the producers of both types of goods, rice & soft drinks, determine the price
in the market ? Using illustrations explain your answer.

(09 marks)

“Since an oligopoly has only a few producers, it is very necessary that one
producer takes notice of the actions of other producers™.
Do you agree ? Explain using examples.

(10 marks)
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PartB

Explain with suitable examples, how simple statistical principles are useful for a small

businessman.

(25 marks)

"Using Median and average alternatively, at any given instance is not appropriate’. Justify
this statement giving simple examples.

Advertising Expenditure

(Rs. 000)

5
10
15
20
25
30

(25 marks)

Sales income
(Rs.”000)

50
110
180
250
320
375

Draw three diagrams only to illustrate the relationship between advertising expenditure

and sales income.

(25 marks)

- Copy Right Reserved -
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THE OPEN UNIVERSITY OF SRI LANKA

CERTIFICATE IN ENTREPRENEURSHIP AND SMALL BUSINESS MANAGEMENT

- PROGRAMME

LEVEL 02 - FINAL EXAMINATION- 2012
BASIC STATISTICS & ECONOMICS - MCC 1103
DURATION - TWO (02) HOURS

Date :13.01.2013 Time : 10.00 a.m. to 12.00 noon

General Instructions

1.
2.

Answer Two (2) questions from PART “A’ and TWO (2) questions from PART "B’.
It is advisable to spend one hour for each part.

Provide answers for each part separately in separate answer books and hand over
them separately.

Graph papers will be provide.
Non programmable calculators are allowed.
All questions carry equal marks.

Part A

(a) What are the major assumptions in Production Possibility Curve analysis ?

(04 marks)
(b) Using production possibility curve analysis explain the following.
(1) Choice.
(i1) Increasing Opportunity Cost.
(i)  Economic Growth.
(iv)  Inefficient level of production. (10 marks)
(c) “In answering fundamental economic questions of a country, every county does

not rely on the same economic system”. Do you agree ? Explain using examples.
(11 marks)
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@) Derive the demand curve using following information

Py 1 2 3 4 5 6 7 8

Qx 70 65 60 55 50 45 40 35

Px - Price of good x
Qx - Quantity demanded of good x

(i)  Does the above confirm the Law of Demand? Explain.

(iti)  Find the slope of the demand curve ?

(iv)  Using illustrations explain how the demand/quantity demanded of good x
changes under following conditions.

e Price of a substitute good of good x increases.

o Price of a complementary good of good x increases.

e Price of good x decreases.

» Income of the people increases (consider good x as a normal good).
(15 marks)

Using illustrations, explain how the supply/quantity supplied of a good changes
under following given conditions.

@) Price of the inputs needed to produce the given good increases.

(i)  More and more people start producing the good.

(iii)  The government imposes a tax on the supply of the good.

(iv)  The price of the given good declines. (10 marks)

Explain the nature of the market in which a producer of,
¢)) Paddy.
(ii) Soft drinks, has to operate. (06 marks)

Can the producers of both types of goods, rice & soft drinks, determine the price
in the market ? Using illustrations explain your answer.

(09 marks)

“Since an oligopoly has only a few producers, it is very necessary that one
producer takes notice of the actions of other producers”.
Do you agree ? Explain using examples.

(10 marks)
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Part B

Explain with suitable examples, how simple statistical principles are useful for a small

businessman.
(25 marks)

‘Using Median and average alternatively, at any given instance is not appropriate’. Justify
this statement giving simple examples. v
(25 marks)

Advertising Expenditure Sales income
(Rs. 7000) (Rs.”000)

5 50

10 110

15 180

20 ‘ 250

25 320

30 375

Draw three diagrams only to illustrate the relationship between advertising expenditure
and sales income.

(25 marks)
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